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Re-Imagination of learning

You have a zoo full of animals. There are 3 lions, 2 monkeys, 1 parrot and 1 tiger.

1. Which of these animals have equal probability to be picked out of the zoo?

a. lions and monkeys
b. lions and parrots

c. parrots and tigers

Answers:- (a), (b), (c) Circle the correct answer.

2. Which of these animals is the most unlikely to be picked out of the zoo?

a. alion
b. a monkey

c. a parrot

Answers:- (a), (b), (c) Circle the correct answer.

3. What is the probability, in number form, that a monkey will be picked out of the zoo?

1
a. ——
5
b 2
6
2
C.
7 o o
Answers:- (a), (b), (c) Circle the correct answer.

4. If a tiger is taken out of the zoo and 1 lion and 2 more monkeys are added. What is the probability
that a lion will be picked out of the zoo?

4
a.
7
b 2
6
4
c.
9 - -
Answers:- (a), (b), (c) Circle the correct answer.
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